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Incident Report

Two brothers, 16 and 14, were operating a skid steer when they hit a rock,
causing the skid steer to roll over. The younger brother, who was riding along on
the skid steer, was killed when he fell off and was crushed by the skid steer. The
16-year-old has non-fatal injuries. It was reported that the 16-year-old was
wearing a seatbelt.

Use QR code 1 to answer question 1. Then, scan QR code 2 to see if you were
correct and use that guideline to answer questions 2-5.
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1. What guideline applies to this injury report?

2. What hazards listed on the guideline are presented in this injury report?

3. Were any protective strategies followed?



4. What type of supervision is required for this task?

5. Do you feel you have enough information to adequately assess the youth’s ability to
do this task?

6. Overall, was this task a good fit for the 16-year-old? Why or why not?

7. Could this injury incident have been prevented? How?



